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Set :- A 

 

 

Time :- 3 Hours  General Instructions   Full Marks :- 300

1  This question booklet contains 100 questions. Divided into four sections Section A, Section B, Section 

C and Section D. 

2 Each section contains 25 multiple choice questions with only one option correct. Chose the most 

appropriate option. 

3 Each question carry 3 marks for correct response and no marks will be awarded/deducted for 

unanswered/ wrong answers. 

4 The OMR will be graded by machine so do not fold or make any stray marks on the OMR sheet. 

5 The bubbles on the OMR sheet should be filled completely with black ball pen. Do not hard press the 

pen on the OMR sheet.  

6 Fill the required fields in the OMR sheet. Incomplete OMR sheets will not be considered for 

evaluation. 
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Deposit the Question Booklet and OMR sheet both to the invigilator. 

Note :- There is no negative marking. 
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Rough Space 

SECTION – A 

1. Which of the following graph is possible?  
   

  

  

  

 

 

 

 

 

 

2. A ball is dropped from a height h. A second ball at the same time is thrown upwards with a velocity u. 

At what time will they meet?  

h u 
  

(a) 
𝑢

ℎ
       (b) 

ℎ

𝑢
     

(c)  
2ℎ

𝑔
       (d) cannot be predicted 

3. An object of size 7 cm is placed at 27 cm in front of a concave mirror of facal length 18 cm. At what 

distance from the mirror should a screen be placed so that a sharp focused image can be obtained? 

  

(a) 54 cm  (b) 64 cm  (c) 27 cm  (d) 108 cm  
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4.  

 

 The equivalent resistance between X and Y is   

X Y    

(a) R   (b) R/2   (c) 4R   (d) 2 R  

5. An ultrasound signal of frequency 50 kHz is sent vertically into the sea water. The signal gets 

reflected from the ocean bed and returns to the surface 0.80s after if was emitted. The speed of 

sound in sea water is 1500 m/s. Find the depth of the sea?  

kHz 

m/s  

(a) 600 m  (b) 0.06 km  (c) 6 x 105 cm  (d) None   

6. Magnetic field lines start  
  

(a) on N-poles N -    (b) on S-poles  S -    

(c) on current carrying wires   (d) No where    

7. Along the direction of current carrying wire, the value of magnetic field is?  
  

(a) Zero       

(b) infinity      

(c) Depends on the length of wire     

(d) Uncertain    

8. Which of the following relations is correct as per Kepler’s law?  
  

(a) 𝑟3  ∝ 𝑇2   (b) 𝑟3  ∝
1

𝑇2   (c) 𝑟2  ∝ 𝑇3       (d) 𝑟2  ∝
1

𝑇3   
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9. What is the work done by the force of gravity on a satellite moving round the earth?  
  

(a) infinity      (b) zero     

(c) 
𝐺 𝑚1𝑚2

𝑟2  x 2πr     (d) None   

10. If the refractive indices for water and diamond relative to air are 1.33 and 2.4 respectively then the 

refractive index of diamond relative to water is   

  

(a) 0.55   (b) 3.19   (c) 1.80    (d) None    

11. A person cannot see objects clearly beyond 50 cm. The power of the lens to correct the vision is  

  

(a) + 5D   (b) – 0.5 D  (c) + 2D   (d) – 2D  

 

12.  

 

 In the circuit shown above the ammeter A reads 4 amp. and the voltmeter V reads 20 volts the value 

of the resistance R is   

A 4 amp. R   

(a) slightly more than 5 ohms ohms     

(b) exactly 5 ohms ohms   

(c) slightly less than 5 ohms ohms     

(d) None   

13. Specific resistance of a wire depends upon   
  

(a) Length of the wire   (b) resistance of the wire   

(c) area of cross section   (d) material of the wire  
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Rough Space 

14. Which of the following statement is/are false?  
   

(i) An electric motor converts mechanical energy into electrical energy  
     

(ii) An electric generator works on the principle of electromagnetic induction  
       

(iii) In a DC electric motor a pair of split rings is used as commutator.  

       DC   

(iv) Induced current will appear in such a direction that it opposes the change that produced it.    
        

(a) i, ii   (b) ii, iii, iv  (c) i only  (d) None   

15. A copper ring having a cut such as not to form a complete loop is held horizontally and a 

bar magnet is dropped through the ring with its length along the axis of the ring. Then 

the acceleration of the falling magnet is (neglect air friction)  

 

(a) g    

(b) less than g  g    

(c) more than g  g    

(d) 0  

16. The equivalent resistance between points X and Y.  

X  Y   

 

 

 

 (a) 9 Ω   (b) 6 Ω   (c) 8/3 Ω  (d) 3 Ω  
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𝑖 

Rough Space 

17. Twinkling of stars is an account of    
   

(a) Large distance of stars and storms in air   

(b) Small size of stars   

(c) Large size of stars   

(d) Large distance of stars and fluctuations in the density of air 
  

18. Most of the sources of energy we use represent stored solar energy. Which of the following is not 

ultimately derived from sun’s energy   
 

(a) geothermal energy   (b) wind energy   

(c) nuclear energy    (d) bio mass   

19. A bullet of mass 10 g travelling horizontally with a velocity of 150 m/s strikes a stationary wooden 

block and comes to rest in 0.03 s. Calculate the magnitude of the force exerted by the wooden block 

on the bullet.   

m/s 
 

(a) 50 N   (b) 65 N   (c) 89.8 N  (d) None   

20. An artificial satellite is moving in a circular orbit of radius 42250 km. Calculate its speed if it takes 24 

hours to revolve around the earth.   

 

(a) 2.01 kms-1  (b) 3.07 kms-1  (c) 1.5 kms-1  (d) 4 kms-1  

21. Which pole will be formed in the following fig.  
 

(a) N-pole   

(b) S-pole   

(c) both   

(d) cannot be predicated  
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Rough Space 

22. A person standing at some distance from a mirror finds his image erect, virtual and of the same size. 

Then the mirror is possibly.    
 

(a) concave mirror    (b) plane or concave mirror   

(c) plane or convex mirror  (d) None   

23. Masses of 3 wire of same metal are in the ratio 1 : 2 : 3 and their lengths are in the ratio 3 : 2 : 1. The 

electrical resistances are in ratio  
  

 

(a) 1 : 4 : 9  (b) 9 : 4 : 1  (c) 1 : 2 : 3  (d) 27 : 6 : 1  

24. A man pushes a wall with a force of 10 N then the wall pushes the man with    

N  

(a) 10 N   (b) 20 N   (c) 0 N   (d) infinity   

 

25. A balloon is rising with constant acceleration 2m/s2. Two stones are released from the balloon at the 

interval of 2 sec. Find out the distance between the two stones 1 sec. after the release of second 

stone?   

2m/s2 
  

(a) 24 m  (b) 36 m  (c) 48 m  (d) 60 m  
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SECTION - B 

1. Which of the following reaction is used in black and white photography?   
  

(a) CaO + H2O → Ca(OH)   (b) ZnO + C → Zn + CO  

(c) 2 AgBr                   2 Ag + Br2  (d) Zn + CuSO4 → ZnSO4 + Cu  

2. Which of the following is not an olfactory indicator?   
  

(a) Vanilla    (b) Turmeric   

(c) Clove oil    (d) Onion   

3. Antioxidants help to    
  

(a) Prevent reduction of substances   

(b) Increase the rate of oxidation    

(c) Decrease the rate of oxidation    

(d) Cause rancidity of fats and oils    

4. Which of the following do not react either with cold water or hot water?   
 

(a) Calcium  (b) Potassium  (c) Aluminium  (d) Magnesium  

5. Which of the following pairs of elements can form amphoteric oxide?  
 

(a) Carbon and aluminium   

(b) Aluminium and sodium   

(c) Zinc and Potassium  

(d) Aluminium and Zinc   

6. pH of blood is    

pH   

(a) 6.8   (b) 7   (c) 7.4   (d) 6.6  

 

 

 

 

 

 

 

Sunlight 
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Rough Space 

7. Which of the following cannot conduct electricity?  
  

(a) Distilled water    (b) Rain Water    

(c) HCI solution  HCI    (d) Sea Water   

8. Which of the following elements has the highest electronegativity?  
  

(a) Oxygen   (b) Carbon  (c) Magnesium  (d) Nitrogen  

9. According to Newlands’ Law of Octaves, carbon has properties similar to that of    

 

(a) Sodium  (b) Aluminium  (c) Silicon  (d) Titanium  

10. Which acid is used as ink-stain remover?  
   

(a) Oxalic acid    (b) Tartaric acid    

(c) Acetic acid    (d) Boric acid   

11. 2.12g of an impure mixture containing anhydrous sodium sulphate  dissolved in water. An excess of 

barium chloride solution is added and 1.74 gram of barium sulphate is obtained as a dry precipitate. 

Calculate the percentage purity of the impure sample.  

 

(a) 70%   (b) 36.7%  (c) 50%   (d) 82%  

12. A compound contains carbon 14.4 %, hydrogen 1.2 % and chlorine 84.5 %. Work correct to 1 decimal 

place. The relative molecular mass of the compound is 168. Find its molecular formula.  

 

(a) CHCI2  (b) C2H2CI2  (c) C2H2CI4  (d) CHCI4  

13. While cooking, if the bottom of the vessel is getting blackened on the outside, it means that  
  

(a) the food is not cooked completely    

(b) the fuel is not buring completely   

(c) the fuel is wet   

(d) the fuel is buring completely 
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Rough Space 

14. When extracted from lichen, the colour of litmus solution is   
  

(a) Blue      (b) Red     

(c) depends on acid or base  (d) None   

15. In the liver, methanol is oxidized to   
   

(a) Methane     (b) Methyl pyridine   

(c) Methanal     (d) No reaction occurs.  

16. In the presence of which catalyst, unsaturated hydrocarbon gets converted into saturated 

hydrocarbon?   
  

(a) Palladium     (b) Copper    

(c) Potassium permanganate  (d) Both (a) and (c) (a) (c)   

17. Which of the following compound is used in soda-acid fire extinguisher?  
  

(a) Na2CO3     (b) NaHCO3   

(c) NaCOOH     (d) Any of this can be used  

18. Calculate the number of moles of zinc [Zn2+] ions and oxide [O2—] which will be obtained from 162 

gram of ZnO, [Zn = 65, O = 16]   

ZnO [Zn2+] [O2—] [Zn = 65, O = 16]   

(a) 2, 4      (b) 2, 2    

(c) 4, 2      (d) None   

19. Why does carbon form long chain compounds?   
  

(a) Catenation     (b) Tetravalency   

(c) Allotropy     (d) Both (a) and (b) (a) (b)   

20. Food cans are coated with tin but not with zinc because    
 

(a) Zinc is costlier than tin.   

(b) Zinc is more reactive than tin.    

(c) Zinc is less reactive than tin.   

(d) Both (a) and (c) , (a) (c)   
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21. 10 mL of a solution of NaOH is found to be completely neutralised by 8 mL of a given solution of HCI. 

If we take 20 mL of the same solution of NaOH, the amount of HCI solution required to neutralised it 

will be    

10 mL NaOH 8 mL HCI 20 mL  NaOH 

HCI   

(a) 22 mL  (b) 16 mL  (c) 8 mL   (d) 11 mL  

22. Propane molecule contains  
  

(a) 12 covalent bonds   (b) 10 covalent bond   

(c) 8 covalent bonds   (d) 9 covalent bond   

23. Elements in the same vertical group of the Modern Periodic Table have same   
  

(a) Number of electrons   

(b) Atomic number   

(c) Number of valence electrons    

(d) Electronic configuration   

24. Unsaturated hydrocarbons on treating with H2 in the presence of palladium form saturated 

hydrocarbons. This is an example of    

H2 
  

(a) Addition reaction   (b) Substitution reaction   

(c) Displacement reaction  (d) Decomposition reaction   

25. Identify the liquid amalgams from the following?   
  

(a) Zn/Hg  (b) Na/Hg  (c) Cu/Hg  (d) Pb/Hg  
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SECTION - C 

1. In the given fig. POQ is a line. OR ⊥ PQ. OS is another ray lying between ray OP and OR. Then 2∠ROS 

+ ∠POS = ?   

POQ OR ⊥ PQ OS OP OR ∠ROS + 

∠POS = ?  

(a) ∠ROP   

(b) ∠ROQ   

(c) ∠POQ   

(d) ∠QOS  

 

2. If 4 different positive integers m, n, p & q satisfy the equation:   

    7 −𝑚  7 − 𝑛  7 − 𝑝  7 − 𝑞 = 4   

then the sum of m + n + p + q =   

m, n, p q 

 7 − 𝑚  7 − 𝑛  7 − 𝑝  7 − 𝑞 = 4

m + n + p + q   

(a) 21   (b) 24   (c) 26   (d) 28   

3. A motor boat whose speed is 18 km/h in still water takes 1 hour more to go 24 km upstream than to 

return downstream to the some spot. Find the speed of the stream   

  

(a) 6 km/h  (b) 54 km/h  (c) 6 m/s  (d) None  

4. A bag contains 5 red balls & some blue balls, if the probability of drawing a blue ball is double that of 

a red ball. Find the number of blue balls in the bag.   

 

(a) 12   (b) 10   (c) 25   (d) 20  

  



ARYABHATT SUPER 30 Ensure your success in IIT -JEE / PMT 

 

GAIIT CLASSES, R. K. Plaza, Infront of Ram Krishna Mission Ashram, Nala Road, Patna-4.   
  Ph. -  0612-3219892, www.gaiit.com. Page 13-A 
 

𝑙1  

𝑙2  

𝑙3  

𝑙4  

A B 

Rough Space 

5. A spiral is made up of successive semicircles, with centres alternately at A and B, starfing with centres 

at A, of  radii 0.5 cm, 1 cm, 1.5 cm, 2cm, …………… as shown in fig. what is the total length of such a 

spiral made up of thirteen consecutive semicircles? (Take π = 22/7)    

A A B 0.5 cm, 1 cm, 1.5 cm, 2cm, …………… 

spiral

π =  

(a) 163 cm   

(b) 243 cm   

(c) 143 cm   

(d) 263 cm   

6. The houses of a row are numbered consecutively from 1 to 49. Show that there is a value of x such 

that the sum of the numbers of the houses preceeding the house numbered x is equal to the sum of 

the numbers of the houses following it. Find the value of x  

x x 

x 
  

(a) 35   (b) 70   (c) 36   (d) 72  

7. If a circle circumscribes a parallelogram then the parallelogram must be a:  
   

(a) square      (b) Trapezium     

(c) rhombus     (d) None   

8. ABC is an equilateral triangle inscribed in a circle of radius 21 cm. find the length of major arc (Take π 

= 22/7)    

 ABC  

(a) 44 cm  (b) 80 cm  (c) 87 cm  (d) None   

9. If 12 sin 𝜃 + 5 cos 𝜃 = 𝛽, then     

12 sin 𝜃 + 5 cos 𝜃 = 𝛽   

(a) sin 𝜃 =
12

13
   (b) sin𝜃 =

5

13
    (c)  cos 𝜃 =

5

13
   (d) (a) & (c)   
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Rough Space 

10.  sin 𝐴 + 𝑐𝑜𝑠𝑒𝑐 𝐴 2 +  cos 𝐴 + sec𝐴 2 = 𝑥 + tan2 𝐴 + cot2 𝐴 find the value of x   

 sin 𝐴 + 𝑐𝑜𝑠𝑒𝑐 𝐴 2 +  cos 𝐴 + sec𝐴 2 = 𝑥 + tan2 𝐴 + cot2 𝐴. X   

(a) 5   (b) 3   (c) 7   (d) 9  

11. A cistern internally measuring 150 cm x 120 cm x 110 cm has 129600 cm3 of water in it. Porous bricks 

are placed in the water until the cistern is full to the brim. Each brick absorbs one seventeenth of its 

own volume of water. How many brick can be put in without overflowing the coater, each brick being 

22.5 cm x 7.5 cm x 6.5 cm?  

150 cm x 120 cm x 110 cm 129600 cm3 

22.5 cm x 7.5 cm x 6.5 cm 
  

(a) 891   (b) 1792  (c) 1900  (d) 1300  

12. For the equation 3𝑥2 + 𝑝𝑥 + 3 = 0, p > 0 if one of the roots is square of the other, then p is equal to

3𝑥2 + 𝑝𝑥 + 3 = 0 p > 0 p   

(a) -6   (b) 6   (c) 1   (d) None   

13. 𝑥 =  6 +  6 +  6 + ⋯………  ∞ then x = ?   

𝑥 =  6 +  6 +  6 + ⋯………  ∞ x = ?    

(a) -6      (b) 3     

(c) -2      (d) both (b) and (c),  (b) (c)   

14. ABCD is a quadrilateral such that its all sides are tangent to a circle then:   

 ABCD  

(a) AC + AD = BD + CD    (b) AB + CD = BC + AD   

(c) AB + CD = AC + BC    (d) AC + AD = BC + BD   

15. If  𝑥 +
1

𝑥
= 5,  then find  𝑥3 +

1

𝑥3   

𝑥 +
1

𝑥
= 5 𝑥3 +

1

𝑥3 =?   

(a) 110      (b) 125    

(c) 109      (d) Data insufficient   
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16. 𝑥 x Median = Mode + y x Mean then 𝑥 and y are respectively    

 𝑥 x = + y x 𝑥  y   

(a) 1, 1   (b) 2, 3   (c) 3, 2   (d) 1, 2  

17. Find the value of  cos 00  x cos 10  x cos 20 ………………… . . cos 1800    

cos 00  x cos 10  x cos 20 ………………… . . cos 1800    

(a) 1       (b) 0    

(c) infinity       (d) None   

18. If 𝐴 −5, 7 , 𝐵 −4, −5 , 𝐶 −1,−6 & 𝐷(4, 5) are vertices of a quadrilateral, find the area of the 

quadrilateral ABCD  

𝐴 −5, 7 , 𝐵 −4,−5 , 𝐶 −1, −6  𝐷(4, 5) ABCD   

(a) 36   (b) 72   (c) 144   (d) 288  

19. ABCD is a quadrilateral in which ∠A + ∠B = 900; AB = 12, BC = 5, BD = 15, AC = 8 then find CD2    

 ABCD ∠A + ∠B = 900 ; AB = 12, BC = 5, BD = 15, AC = 8 CD2  

(a) 169   (b) 289   (c) 145   (d) 15 x 12  

20. If tan(𝐴 + 𝐵) =  3 & tan(𝐴 − 𝐵) =
1

 3
; 00 < 𝐴 + 𝐵 ≤ 900,  A > B then A & B are respectively  

tan(𝐴 + 𝐵) =  3 tan(𝐴 − 𝐵) =
1

 3
; 00 < 𝐴 + 𝐵 ≤ 900 , A > B A  B    

(a) 150, 45  (b) 600, 30  (c) 450, 150  (d) 300, 600  

21. A tower stands vertically on the ground. From a point on the ground, which is 15 m away from the 

foot of the tower, the angle of elevation of the top of the tower is found to be 600. Find the height of 

the tower   
 

 

(a) 
45

 3
    (b) 15 3   (c) 5 27   (d) All   
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22. Point 𝐴 1, 7 , 𝐵 4, 2 , 𝐶 −1, −1 & 𝐷 (−4, 4) are the vertices of    

𝐴 1, 7 , 𝐵 4, 2 , 𝐶 −1, −1 (−4, 4)   

(a) square       (b) rhombus       

(c) Trapezium    (d) None     

23. A angle is 2/3 of it’s supplement angle then find the angle   
    

(a) 720   (b) 1080   (c) 1200   (d) 600  

24. If α & β are the roots of the equation 𝑥2 + 3𝑥 − 2 = 0 then 𝛼2𝛽 + 𝛼𝛽2 =   

α  β 𝑥2 + 3𝑥 − 2 = 0 𝛼2𝛽 + 𝛼𝛽2 =   

(a) -6   (b) -3   (c) 6   (d) 3  

25. If one of the roots of an equation, 𝑥2 − 2𝑥 + 𝑐 = 0 is thrice the other, then C   

𝑥2 − 2𝑥 + 𝑐 = 0 C =    

(a) 1/2   (b) 4/3   (c) -1/2   (d) 3/4   
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Rough Space 

SECTION – D 

1. Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10, 12 seconds respectively. In 

30 minutes, how many times do they toll together ?    

 

(a) 4   (b) 10   (c) 15   (d) 16  

2. 
0.07 x 0.07 x 0.07 −0.05 x 0.05 x 0.05

0.07 x 0.07+0.07 x 0.05+0.05 x 0.05
= ?   

(a) 0.002  (b) 0.02   (c) 0.2   (d) 0.0002 

3.  2 −
1

3
  2 −

3

5
  2 −

5

7
 ……… .  2 −

999

1001
 =?    

(a) 
999

1001
    (b) 

1003

3
   (c) 

1001

3
    (d) None of these 

4. A General of Army wants to form a solid square from 36562 armies. After arrangement, he found 

some armies left. How many armies were left?     

  

(a) 36   (b) 65   (c) 81   (d) 97  

5. The mean of five numbers is 18. If one number is excluded, their mean is 16. The excluded number is:    
  

 (a) 25   (b) 26   (c) 27   (d) 30  

6. A two-digit number is three time the sum of its digits. If 45 is added to the number, its digits are 

interchanged. The sum of the digits of the number is :    

   

(a) 5   (b) 7   (c) 9   (d) 11  

7. The present age of a man is five times the age of his son. Five years ago, the age of the man was ten 

times the age of his son at that time. How old is the man at present?    

 

(a) 45 years  (b) 48 years  (c) 52 years  (d) None of these  

(a) 45   (b) 48   (c) 52   (d)  
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Rough Space 

8.  
𝑥𝑏

𝑥 𝑐 
(𝑏+𝑐−𝑎)

 
𝑥 𝑐

𝑥𝑎 
(𝑐+𝑎−𝑏)

 
𝑥𝑎

𝑥𝑏 
(𝑎+𝑏−𝑐)

=?    

(a) 1   (b) 𝑥𝑎𝑏𝑐    (c) 𝑥𝑎+𝑏+𝑐   (d) 𝑥𝑎𝑏+𝑏𝑐+𝑐𝑎    

9. In a examination, it is required to get 36% of maximum marks to pass. A student got 113 marks and 

was declared failed by 85 marks. The maximum marks are:    

36% 
 

(a) 500   (b) 550   (c) 640   (d) 1008  

10. A merchant purchases a wrist watch for Rs 450 and fixes the list price in such a way that after 

allowing a discount of 10% he earns a profit of 20%. The list price of the watch is :   

 10% 

20%  

(a) Rs 500  (b) Rs 600  (c) Rs 700  (d) Rs 750  

11. The prices of a scooter and a television set are in the ratio 8 : 7. If a scooter coste Rs 4000 more than 

a TV set, the price of the TV set is :    

  

(a) Rs 32000  (b) Rs 28000  (c) Rs 24000  (d) Rs 36000  

12. A, B and C invested Rs 26000, Rs 34000 and Rs 10000 respectively in a business. At the end of the 

year, they earn a profit of Rs 3500. B’s share of profit is:   

A, B, C  

B   

(a) Rs 1200  (b) Rs 1500  (c) Rs 1700  (d) Rs 1900  

13. 10 men can finish the construction of a wall in 8 days. How many men are added to finish the work in 

half a day?    
  

(a) 160   (b) 100   (c) 120   (d) 150  
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Rough Space 

14. A can do a piece of work in 24 days while B alone can do it in 16 days. With the help of C, they can 

finish the work in 8 days. C alone can do the work in   

A B C 

C  

(a) 32 days   (b) 36 days   (c) 40 days   (d) 48 days   

15. Bombay Express left Delhi for Bombay at 14:30 hours , travelling at a speed of 60 km/h and Rajdhani 

Express left Delhi for Bombay on the same day at 16:30 hours, travelling at a speed of 80 km/h. how 

far away from Delhi will the two trains meet?    

  

(a) 120 km  (b) 360 km  (c) 480 km (d) 500 km   

16. The speed of a train 150 m long is 50 km/h. how much time will it take to pass a platform 600 m 

long?  

   

(a) 50 sec  (b) 54 sec  (c) 60 sec  (d) 64 sec   

17. How much of tea costing Rs 36.60 per kg be mixed with 63 kg of tea costing Rs 17.10 per kg so that 

the mixture may cost Rs 24 per kg ?     

             

(a) 29.5 kg   (b) 34.5 kg  (c) 39.5 kg  (d) 44.5 kg   

18. A farmer borrowed Rs 3600 at 15% per annum. At the end of 4 years he cleared his account by 

paying Rs 4000 and a goat. The cost of the goat is   

15% 
   

(a) Rs 1000  (b) Rs 1200  (c) Rs 1550  (d) Rs 1760  

19. The difference between compound interest and simple interest on Rs 8000 at 5% p.a. for 3 years is   

5%    

 (a) Rs 50  (b) Rs 60  (c) Rs 61  (d) Rs 600  
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20. A path of uniform width runs round the inside of a rectangular field 38 m long and 32 m wide. If the 

path occupies 600 m2, then the width of the path is :  

   

(a) 3 m   (b) 5 m   (c) 8.75 m   (d) 10 m   

21. A room is 10 m long, 8 m wide and 3.3 m high. How many men can be accommodated in this room if 

each man requires 3 m3 of space ?    

  

(a) 99   (b) 88   (c) 77   (d) 75  

22. If 3 chairs and 1 table cost Rs 900 and 8 chairs and 3 tables cost Rs 2100, then the cost of 4 chairs and 

1 table is    

   

(a) Rs 1000  (b) Rs 1050  (c) Rs 1100  (d) Rs 1150  

23. If 2𝑥2 + 12𝑥 + 18 = 0, what is the value of 𝑥 ?    

2𝑥2 + 12𝑥 + 18 = 0 𝑥 =   

(a) -3   (b) -2   (c) 3   (d) more than one answer 

24. The sum of all odd numbers between 100 and 200 is    
   

(a) 3750  (b) 6200  (c) 6500  (d) 7500  

25. In the given figure, what is the value of 𝑥, if 4𝑥 = 5𝑦 ?     

 4𝑥 = 5𝑦 𝑥 =   

(a) 1000   (b) 1050   

(c) 1100   (d) 1150  

 

         

          

         

 


